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T  (b) Explainsupportandconfidence.
g4 e ! silvd - ¢h : ‘ AU DI R T SR ™
| (c) Whatis facttable ?

BQING A1 Caigkd
(38 ADM - : S (d) Differentiate supervised learning and
ATRTHRS . . unsupervisedleaming.
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(2] -

(e) Givenx1=(1,2)andx2= (3, 5) represe
objects. Find the Euclidean and
distance between these objects.

Group-B ; %

2. Answerany THREE qu

o (3)

(@) Assume that the mi

for the attribute income
$98,000, respectively anc
income is [0:0; 1 0] N
$73,600 forincome using
and Z-Score Normali ,

(b) Explain Three - Tier :
Warehouse. Ao Um

(c) DlﬁerenhateOﬂTﬁ g BLA it rnr?qvq o

(d) Explain K-Medoids Algorithm.
(d) EXplaln Backpropagatuon Errér;‘-fw lariA (o) S

(9) DiffefentiateAGNEs e DDCE - VTH - MCAVIIIRD - MCA - (LE)
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(b) Arrange the function in monotonically increasing
order of complexity n2, Lg (n!), 2", n°Lgn, 2'°.

(c) Construct a MAX-HEAP on the list of Keys
L=<8,7,.2,6,9,12,1, 5, 8>

(d) Write two characteristics of Dynamic
Programming for the optimization problem.

[ Cont...
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(e) 2CNF - SATisNP orNP COM i S°T k RPN 0 "

s

(a)
()
(c)
(d
Sbhll L=<3,7,9,2,6,23,12,20,15,13'34'56'70>.

f’ ,2), (&, 14 ) ‘e,d,8 Hea; : ¥

:)eKzn)J :( lg )I : ith . '6)’. Sk (i) Show the final RED BLACK tree of the above after

y Kruskal's algorithm and find its running time. delefing the keys 3.7.12,34.56.
A e CLIQUE s NP (d)(i)Write random select to find thel" smallest element

. inlistL.
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s buffering used in lexical analysis ? Name
nd describe the commonly used buffering
method. [2

(b) Compare the features of NFA with DFA. [2

(c) Whatis the dangling else problem ? [2
(d) Give the transition diagram for an identifier. [2

(e) Describe the role of a parser with a figure. [2

[ Cont...
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(b)

(c)

(d)

(e)

(@)

2] : / l [3] :
Answer any THREE : [Bx3 | (b) Show the moves made by a predictive parser on
) thgy‘;i tid +id*id on the grammar : 2

Differentiate between : [8

(iii) Compiler and Interpreter
(iv) Top down parsing and Bottom up parsing

Explain the need for grouping of compile
phases. ‘

with examples foreach :

Prefix, suffix, _propér pr_ef’ix, su

subsequence W

S

How are left recursion and left

different ? lllustrate with examples. o
(v) Language Pr

~ (vi) Handle Pruning

Describe the follovi(ing typesferrérs \)\;;th
examples : : ks e s o »
Lexical errors, Syntactic errors, Semantic error, {H AnicTIosSS ararioseNson

Logical errors. ‘(viii) Compiler construction tools

Answer any THREE : [12x3 X
Explain how regular expression can be converted DDCE - VTH-MCA/IIRD - MCA - (LE) .
to a DFA with an example. [12 IS - M.Sc. - (CS/T/NTM)

CsS-53-(CD)-R&B
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The figure in the right hand margin indicate marks.

CF

AnswerALL questions.

Answer all questions. [2%x5
Define RPC ?
What do you mean by fault tolerance ?

Defined and differentiate between dynamic and

static systems ?

What s a distributed system ?

Whatis RTOS ?

Answer any THREE : [8x3

Define distributed OS along with its different goals ?
Also write down its Hardware and Software.

Discuss different types of clock synchronization
issues in detail ?

v ok cont..



[2]
(c) State and explain the round robin and weighted

round robin scheduling algorithms with suitable
examples ?

(d) Discuss the features PIP and PCP by taking
suitable examples ?

() What are the basic concepts of real time OS ?
Discuss basic kernel services ?

3. Answerany THREE : [12x3

(a) Define and discuss ATM network with a suitable
diagram ? Mention its advantages and
disadvantages ?

(b) Discuss different types of scheduling in
distributed systems with suitable examples ?

(c) Explain scheduling of sporadic jobs and algorithms
for constructing schedule for static jobs ?
(d) Discuss task scheduling with precedence

constraints with an example and scheduling
algorithms in multiprocessor systems ?

(e) Define and differentiate between real time POSIX,
RT-Linux and Windows NT with individual
applications ?

\7
0’0

DDCE -1l - S - M.Sc. - (CS) -
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(b)

(d)

(e)

()

(9)

3
(a)

2]

PROCESS BT PRIORITY
P1 10 3
P2 1 1
P3 2 4
P4 1 5
P5 5 2

State and explain Banker's algorithm. lee an
example for the same.

What is critical section ? Why do we use
semaphore ? Explain Dining - philosopher
problem of process synchronisation.

Whatis fragmentation ? What are |tstypes What
are the solutions to this ?

What is a page fault ? ;Sahovk..
establishits occurrence ? Zatirna
Compare FIFO,LRU and optimal algori
replacement by taking anexampl‘e@ﬂ@unmom ?
Explain how election algorithms are helpful in
synchronization of D.S.

Answer any THREE. [12x3

What are the goals and design issues of a
distributed os ? Explain each issue in detail.

[ Cont...

[3]
(b) Why do we need a logical clock ? Comment on
Lamport's vector clock by defining logical clock

What s am
(f) What are mgap;é ‘
- DSfaulttolerant ?
"(g) Write notes on the follo. T
(a) Solution to thrashing
(b) Types of schedulers
(c)ATM

\7
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P : ﬁ*ﬁ' \"q‘s fr;i"'ya‘?g“', X
do youmean by Public Key cryptography ? '

Vi

Discuss the functions of MIME protocol.

| N s © (e) Whatisstealthvirus ?

: [ Cont...




[2] (3]
[8x3

(c) What is internet security ? Discuss the working
principles of PGP and PEM in detail.

(6) Whatis SSL?Dis

2. Answerany THREE:
(a) Whatis private key encryption system ? Discussg
IDEA in detail. il

(b) Whatis digital envelope ? Discuss the
of digital envelope S

(c) Whatis email security Discuss
Header and Enceps

4%

system, explain ?
3. Answerany THREE :
(a) Whatis Symn

som Symmetric

applications and advantages.
(b) Discuss RSA algorithm with a suitable solved
example.

* [ Cont...



]
(€) Write short notes on (ALL):
(i)Membersmpﬁ,n Bt

2. Answerany THREE: b i

(a) List the various properties of crisp set and the
- corresponding ones of fuzzy set. 8

[ Cont...




(2] ' [3]
(b) The task is to recognize English alpha
characters (F, E, X, Y, I, T) in an

- processing system. The fuzzy sets |- :
represent identiﬁcation ofcharg,qte ar

- = {(F.0.4), (503) (-xo

Find the following : { P me :
(i) rUF-
(i) "= F-
(ii)y F~UF~

Sk e
iy q(h

7 '& & 3
(iv) Verify De Morgan s Law (l“ U F~ .
(c) Showthat (P — Q) " PVQ) usmg propositop R

logic. 8

Given : , i

(d) Describe the various types of encoding for

(l) CVD 32 1180 representing individual genes in genetic
‘“) -H—_)(AA~B) algorithm. [12

[ Cont... [ Cont...



(e) What do you mean by cloud security ?

[ Cont...




[2] :

2. AnsweranyTHREE: [8x3
(a) Whatis cloud computing ? Explain the different
characteristics and components of cloud

computing ?

(b) Discuss different types of virtualization
technology along with its challenges ?

(c) Define load balancing in cloud ? Discuss min-

min, min-max, PSO and GA sqlpen;e{? for load o
balancingincloud ? i :

(@) Dlecuss Mcﬂ% L dependabiity, data migration and

detail alongwumsurlableapplimhons i g ' Sloud 2

(e) Elaborate different types of vulnerability
assessment tools for cloud ? o
3. Answerany THREE : [12x3

(a) Explain how cloud services are monitored and -S-MSc.-(IT/ITM) -
administered along with benefits and limitations ? C.S.-5.6-(C. Compting.)-R& B

Also write down different issues and challenges
in cloud environment ?

[ Cont...
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AnswerALL questions. |

1. Answerall questions. [2%x5

(@) Write down two benefits of client server
computing ?

(b) Mention two open system standards ?

(c) Define windowing ? ' |

(d) Whatis server hardware ?

(e) Whatdo you mean by middleware ?

2. Answerany THREE : [8x3

(a) Explain client server computing ? Also discuss
its evolution and applications ?

(b) Elaborate obstacles upfront and hidden in client

Server computing along with factors needed for
its success ?

[ Cont...



(c)

()

(d)

(e)
(i)
(ii)

[2]
Explain different types of client hardware and
software with some specific examples ?

Discuss the features of network OS along with
its advantages and disadvantages ?

What do you mean by groupware server ?
Elaborate different components of groupware
server ?

Answer any THREE : [12x3
Define and discuss different classes of client
server computing along with their advantages ?
What is open system ? Discuss different
organizations that set standards for open system ?
Explain several client software products in detail
along with client requirements ?

Explain different Categories and features of

Server machine ? Also discuss network
management tools ?

Write short notes on ;
CGI

3 tire Client Server

(iii) Web Client Server

&
0’0
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Answer ALL questions.

1. Answerall questions. [2x%5

(a) Differentiate between static and dynamic
mapping.

(b) Describe granularity and its impact on parallel
computing.

(c) There are 2000 jobs and to do a single job 20 ns
is required. If each job can be done in 5 stages
and 5 processors are employed. What is the
speedup and efficiency ? |

[ Cont...



(d) How fast mwaa d list
merged into one usingp s
() Whatis abitonicsequence ?
2. AnsweranyTHREE
(a)(i)Explain the dlﬁerence’between superscalar
processing and plpelming ? Explaln briefly.
(i) How a mesh can be embedded |nto a :
hypercube ? RN G P e, OU ST w 1 T
(b)(i)For the following task grabﬁ determme the
following : Anciisowm s :

e

| (c)(i)Describe and formulate the algorithm for all to
20 o R i ‘ onereductlononap-nodenngandﬁndllsﬁme
complexity.

R

(i) Explain different mapping technique used in
parallel algorithms.

(d)(i)Write a short notes on VLIW processors.

1 i : ;
(i) Write an algorithm to find the prefix sum

7 operation on a d-dimensional hypercube and find
its time complexity.
[ Cont....
[ Cont...



4]

-, ey el

(e)(i)Describe the parallel formulation
transposition sort on @ n processors fing

of n numbers and show whetheritis ﬁ”

ornot costoptimal.

3. Answerany THREE.

soneanegusee ey | ; A :
(a)(l)(-‘vO“Sldﬁr a memory system with cacheof64KB  (d) How manyalterrate paths are there between any
and DRAM of 1GB with the processor speed two nodes ?

operating at 1 GHz. The latency to DRAM is 50ns
(e) Whatis the diameter of this hypercube ?

and in each memory cycle the processor fetches

four words. What is the peak achievable (f) Whatis the arc connectivity of this hypercube ?

perfomance of multiplyaing two matrices of order (b)(i)What are the different parallel algorithm models ?
32 x 32.

Explain briefly.

[ Cont... [ Cont...




(i) What are the differen
technique ? Explain ‘R ‘,

with a suitable example :
: 5 ‘.‘ﬁ‘?ﬂb iﬁ K\am WE

(d)(l)Descnbe and formulate the algonthm foralltoall

: . * _R&B
broadcast on a p-node mesh and find its time DDCE - Vih MER -CS a6t
3 ‘ © M-MCA—(LE)
complexity.

(i) What are the different performance metrics for

the Parallel system ? Explain all of them.

[ Cont...






